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2-Point Holistic Rubric

2 Point A two-point response includes the correct solution to the question and
demonstrates a thorough understanding of the mathematical concepts
and/or procedures in the task.

This response

¢ indicates that the student has completed the task correctly, using
mathematicallv sound procedures

* contains sufficient work to demonstrate a thorough
understanding of the mathematical concepts and/or procedures

* mav contain inconsequential errors that do not detract from the
correct solution and the demonstration of a thorough
understanding

1 Point A one-point response demonstrates onlv a partial understanding of the
mathematical concepts and/or procedures in the task.

This response
correctlv addresses only some elements of the task
mayv contain an incorrect solution but applies a mathematically
appropriate process
* mav contain the comrect solution but required work is
incomplete
0 Point* A zero-point response is incorrect, irrelevant, incoherent, or contains a

correct solution obtained wusing an obviouslv incorrect procedure.
Although some elements may contain correct mathematical procedures,
holisticallv thev are not sufficient to demonstrate even a limited
understanding of the mathematical concepts embodied in the task.

*Condition Code A is applied whenever a student who is present for a test session
leaves an entire constructed-response question in that session completely blank (no
response attempted).
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Score Points:

3-Point Holistic Rubric

3 Point A three-point response includes the correct solution(s) to the question and demonstrates a
thorough understanding of the mathematical concepts and/or procedures in the task.
This response
* indicates that the student has completed the task correctly, using mathematicallv
sound procedures
» contains sufficient work to demonstrate a thorough understanding of the
mathematical concepts and/or procedures
* mayv contain inconsequential errors that do not detract from the correct solution(s)
and the demonstration of a thorough understanding
2 Point A two-point response demonstrates a partial understanding of the mathematical concepts
and/or procedures in the task.
This response
* appropriately addresses most, but not all aspects of the task using mathematically
sound procedures
* mayv contain an incorrect solution but provides sound procedures, reasoning, and/or
explanations
* mav reflect some minor misunderstanding of the underlving mathematical concepts
and/or procedures
1 Point A one-point response demonstrates only a limited understanding of the mathemartical
concepts and/or procedures in the task.
This response
* mayv address some elements of the task comrectly but reaches an inadequate solution
and/or provides reasoning thatis faulty or incomplete
* exhibits multiple flaws related to misunderstanding of important aspects of the task,
misuse of mathematical procedures, or faulty mathematical reasoning
reflects a lack of essential understanding of the underlving mathematical concepts
mav contain the correct solution(s) but required work is limited
0 Point* A zero-point response is incorrect, irrelevant, incoherent, or contains a correct solution

obtained using an obviouslv incormrect procedure. Although some elements may contain
correct mathematical procedures, holistically they are not sufficient to demonstrate even a
limited understanding of the mathematical concepts embodied in the task.

*Condition Code A is applied whenever a student who is present for a test session leaves an entire
constructed-response question in that session completely blank (no response attempted).
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2016 2-and 3-Point Mathematics Scoring Policies

Below are the policies to be followed while scoring the mathematics tests for all grades:

[

10.

11.

If a student does the work in other than a designated “Show vour work™ area, that work
should still be scored. (Additional paper is an allowable accommodation for a student
with disabilities if indicated on the student’s Individual Education Program or Section
304 Accommodation Plan.)

If the question requires students to show their work, and the student shows appropriate
work and clearlv identifies a correct answer but fails to write that answer in the answer
blanlk, the student should still receive full credit.

In questions that provide ruled lines for students to write an explanation of their worl,
mathematical work shown elsewhere on the page should be considered and scored.

If the student provides one legible response (and one response onlv), teachers should
score the response, even if it has been crossed out.

If the student has written more than one response but has crossed some out, teachers
should score only the response that has mot been crossed out.

Trial-and-error responses are mot subject to Scoring Policy #5 above, since crossing out is
part of the trial-and-error process.

If a response shows repeated occurrences of the same conceptual error within a question,
the student should not be penalized more than once.

In questions that require students to provide bar graphs,

in Grades 3 and 4 onlv, touching bars are acceptable

in Grades 3 and 4 only, space between bars does not need to be uniform
in all grades, widths of the bars must be consistent

in all grades, bars must be aligned with their labels

in all grades, scales must begin at (0, but the 0 does not need to be written

In questions requiring numhber sentences, the number sentences must be written
horizontally.

In pictographs, the student is permitted to use a svmbol other than the one in the kev,
provided that the symbol is used consistently in the pictograph; the student does not need
to change the symbol in the key. The student mav not, however, use multiple svmbols
within the chart, nor mav the student change the value of the svmbol in the kev.

If students are not directed to show work, anv work shown will not be scored. This
applies to items that do not ask for anv work and items that ask for work for one part and
do not ask for work in another part.

. Condition Code A is applied whenever a student who is present for a test session leaves

an entire constructed-response question in that session completely blank (no response
attempted). This is not to be confused with a score of zero wherein the student does
respond to part or all of the question but that work results in a score of zero.
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45

Haley cut pieces of ribbon to make bookmarks. Each bookmark was % foot
long.

Draw a point at % on the number line below and label the point A.

< I >
0 1

Haley placed 5 of the bookmarks end to end.

Draw a point on the number line below to represent the total length of the
5 bookmarks. Label the point B.

< I >
0 1
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EXEMPLARY RESPONSE

45

Haley cut pieces of ribbon to make bookmarks. Each bookmark was % foot

long.
1

Draw a point at § on the number line below and label the point A.

A
A : —
0 1

Haley placed 5 of the bookmarks end to end.

Draw a point on the number line below to represent the total length of the
5 bookmarks. Label the point 8.

-— -
0 1

\J
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GUIDE PAPER 1 Additional

45

Haley cut pieces of ribbon to make bookmarks. Each bookmark was - foot
long.
Draw a point at % on the number line below and label the point A.

< t ' : — -
o A 1

Haley placed 5 of the bookmarks end to end.

Draw a point on the number line below to -represent the total length of the
5 bookmarks. Label the point B.

Score Point 2 (out of 2 points)

This response demonstrates a thorough understanding of the mathematical concepts in the
task. The section of the number line is correctly divided into 8 parts. Point A is correctly
placed at the "4 mark. Point B is placed correctly at 7% on the number line.
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GUIDE PAPER 2

45

Haley cut pieces of ribbon to make bookmarks. Each bookmark was -1 foot

3
long.
Draw a pnintat% on the number line below and label the point A.

< 4 l >

1
]
0 __h_ 1

Haley placed 5 of the bookmarks end to end.

Draw a point on the number line below to represent the total length of the
5 bookmarks. Label the point B.

< —» =

0 ~—‘B 1

Score Point 2 (out of 2 points)

This response demonstrates a thorough understanding of the mathematical concepts in the
task. Point A is correctly placed at the 4 mark. Point B is placed correctly at % on the
number line.
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GUIDE PAPER 3

45

Haley aut pieces of ribbon to make bookmarks. Each bookmark was % foot
long.
Drawapointat%mﬂ‘mnumhuineb&!mm label the point A.

.
1 i —
1

-
I |

Haley placed 5 of the bookmarks end to end.
Draw a point on the number line below to represent the total length of the
2 bookmarks. Label the point B.

v

<

o -

u!.\'-r‘n-'" =

Score Point 2 (out of 2 points)

This response demonstrates a thorough understanding of the mathematical concepts in the
task. Point A is correctly drawn at the l/g mark. Point B is correct at 5/8 on the number line.
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GUIDE PAPER 4

45

Wmﬂmﬂ%mmﬂebﬁrﬂh@hodnm@
= .
meapolnta’&-’-;- g_n_ﬂnenumhnrimheluwardlahelthepom&

fouy Pr
ME 1

. L. 1| .
au11;:1‘nr*
i) 22 7 2 8

] 7

e A
b 3 3 7
Haley placed’s of the bookmarks enthto end.
DmapﬂmmmbulmmmmmntﬁutMIengthufm

Tﬂ-u)hbdthepdritﬂ

<«

<

| =¥

- =

il

2
S

m"-r-‘_,_._

Score Point 1 (out of 2 points)

This response demonstrates a partial understanding of the mathematical concepts in the

task. The segment of the first number line is correctly divided into 8 sections. Point A is
correctly drawn at the 1/g mark. Point B is incorrect at 7.
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GUIDE PAPER 5
45

Haley cut pieces of ribbon to make bookmarks. Each bookmark was 1 foot

8
fong.

Drawapnlntn%onﬂunmnherlimbehwandwﬂtepolntﬁ_

& ¥ id
\ -
[

.

<€

o -

: >
AL s |
7

Haley placed 5 of the bookmarks end to end.

Draw a point on the number line below to represent the total length of the
5 bookmarks. Label the point B.

< .'
0

\J

b

'\
S
2

Score Point 1 (out of 2 points)

This response demonstrates a partial understanding of the mathematical concepts in the

task. Point A is correctly drawn at the l/g mark on the number line. Point B is incorrect.
Although point B is labeled as %, it is placed at the 74 mark.
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GUIDE PAPER 6

45

Mwmﬁmdﬁhhnhmﬁhomm&mmm%m

long.
Draw a polnt at % on the number line below and label the point A.

A

* | >

< >

e o

1
1
0

Haley placed 5 of the bookmarks end to end.

Draw a point on the number line below to represent the total length of the
5 bookmarks. Label the point B.

«

]
j
0 1

Score Point 1 (out of 2 points)

This response demonstrates a partial understanding of the mathematical concepts in the
task. Point A is incorrect. It is drawn at about the 1/3 mark. Point B is correct at 5/8 on the
number line.
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GUIDE PAPER 7

45

Haley ut pleces of ribbon to make bookmarks. Each bookmark was 1 foot

long.
Drawapolntat% on the number line below and label the point A.

-1'; X 1!)*

Haley placed 5 of the bookmarks end to end.

Draw a point on the number line below to represent the total length of the
5 bookmarks, Label the point B.

<«

é B 1

Score Point 0 (out of 2 points)

This response is not sufficient to demonstrate even a limited understanding of the
mathematical concepts in the task. Point A is incorrect; it is at the “4 mark. Point B is
incorrect at the 3/4 mark.
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GUIDE PAPER 8 Additional

45| Haley aut pieces of ibbon to make bookmarks. Each bookmark was 3 foot

long.
Drawapoirrtut—;-mﬂienumherimbehwu'ld label the point A.
<€ ’?‘ >

: 1 !

Haley placed 5 of the bookmarks end to end.

Draw a point on the number line below to represent the total length of the
5 bookmarks. Label the point B.
2 N

; L :

-

Score Point 0 (out of 2 points)

This response is not sufficient to demonstrate even a limited understanding of the
mathematical concepts in the task. Point A is incorrect at the l/2 mark. Point B is incorrect
at the 1/2 mark.
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Katia received a sticker each time she picked up her toys. She placed some of
the stickers on page 1 of her scrapbook, as shown below.

Page 1

gk gkt ek ok
W W IICI
FOX R W
PAQARAQAGX Sk g*e

Write numbers in the blanks below to show two multiplication facts represented
by the array of stickers on page 1 of her scrapbook.

- 5 =

S —

Katia placed the rest of the stickers on pages 2 and 3 of her scrapbook, as
shown below.

Page 2 Page 3

PAQAQ AN WKW
PAQAQA QA WK
PAAQAAY W
ARARARA} LARAQAS

Complete the expression below to represent the total number of stickers on
pages 2 and 3.

| + )
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EXEMPLARY RESPONSE

Katia received a sticker each time she picked up her toys. She placed some of
the stickers on page 1 of her scrapbook, as shown below.

Page 1

W W RINW
W W
A AR AAGAGAGA
WK

Write numbers in the blanks below to show two multiplication facts represented
by the array of stickers on page 1 of her scrapbook.

I x_4 = _28

4 «w_T7 =_328

Katia placed the rest of the stickers on pages 2 and 3 of her scrapbook, as
shown below.

Fage 2 Page 3

WK PAQA QA
PAQAGAQAY WK
PAQAAAS PAQA QA
WKW IW

Complete the expression below to represent the total number of stickers on
pages 2 and 3.

4 x(4 +_3 )

Or other valid response.
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GUIDE PAPER 1 Additional

46 Katla received a sticker each time she picked up her toys. She placed some of

the stickers an page 1 of her scrapbioak, as shown below.
Page 1

e e, S, W, W

QR @k @k grateks

WS "“‘f‘r*'*"fw

PRk Nk kg

i-";ﬂ 2L .-'-E

FoAes ﬁ’fr“;‘lfw

|

Write numbers in the blanks below to show two multiplication facts represented
by the array of stickers on page 1 of her scrapbook.

Ul‘ *® 7 =Y
T B SO 1.

Katia placed the rest of the stickers on pages 2 and 3 of her scrapbook, as

shown below,
Page 2 Page 3
Y, A NI S _.'"'.-__-E-
YOO | hake ke
v-\d"l- dl" !' -.--"'5,- -f.ﬁu- _,«-‘..-"_ ..*L
P ol A H R
\_r;" _Jt_ﬂ.lr{., _\J'I. 2 [ - i e
AN X PEQAGH;
- _|I_r ‘;'-w-lr'l"'r 1-.;]'-. e el
L S S B = :**T' ﬁﬂ?

Complete the expression below to represent the total number of stickers on
pages 2 and 3.

"* x!ut +?\3

Score Point 2 (out of 2 points)

This response demonstrates a thorough understanding of the mathematical concepts in the
task. Two correct multiplication facts are given to represent 28 stickers. The response
provides a correct expression to represent the stickers on pages 2 and 3.
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GUIDE PAPER 2

46 Katia recelved a sticker each time she picked up her toys. She placed zomea of

the stickers an page 1 of her scrapbook, as shown below.

Page 1
| TR A BT r— |
; 'i_-l'l.- e _.'I'.' l
e T e T A -4 -

1 Sefrshetehot |
i "‘:. 'R )-1. -..""\-\. |
| J'-.r_.: - .7_,, " l

34 34 2 3 1 'l. PR

4 i

I 1'? i@ irairakd

..-.-‘ L R e ]-:

Write numbers in the blanks below to show two multiplication facts represented
by the array of stickers on page 1 of her scrapbook.

1«4 28
4+ -8

Katia placed the rest of the stickers on pages 2 and 3 of her scrapboack, as

shown below.
Page 2 Page 3
\ Ea
[ .._“I: '“":-'.-‘"‘.".'?""-'-'." | .._I_._,,_--"_ :_.__;_
| L L A P T4
| | SR PR iEF, T,
i G P IR L - s
| = it A A,
i S = T RS £
| . M g J A !
et e e e 7] - N
I L S Il LS

Complete the expression below to répresent the total number of stickers on
pages 2 and 3.

4 xig +4—

Score Point 2 (out of 2 points)

This response demonstrates a thorough understanding of the mathematical concepts in the
task. Two correct multiplication facts are given to represent 28 stickers. The response
provides a correct expression to represent the stickers on pages 2 and 3.
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GUIDE PAPER 3

46

Katia received a sticker each time she picked up her toys. She placed some of

the stickers on page 1 of her scrapbock, as shown below.,

Page 1

,,._..._rs._....r‘sﬂ....,I A
»% L L ?'1w\1 5—»‘

F?T "“.Lﬂ TT"H%V

ORI

Wrlte numbers in the blanks below to show two multiplication facts represented
by the amray of stickers on page 1 of her scapbook.

b 7 2%

] (T
2 2 B 0D
Katia placed the rest of the stickers on pages 2 and 3 of her scrapbook, as
shown below,
Page 2 Page 3
Ao A A A ' KA A
W | @R &
A A A A | N A A
3 34 {3 ‘ W
S A A A .
RN @k g | FaAake
||H_-__ . .mr..'\'.,_ | A 1 A
Ak @k @k | AQAGK

Complete the expression below to represent the total number of stickers on
pages 2 and 3,

_x{_1_+l:)¢_l

Score Point 2 (out of 2 points)

This response demonstrates a thorough understanding of the mathematical concepts in the
task. Two correct multiplication facts are given to represent 28 stickers. The response
provides a correct expression to represent the stickers on pages 2 and 3. The response
counts the number of stickers on each page, then adds them and finally multiplies by 1.
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GUIDE PAPER 4

46

Katia recaived a sticker each time she picked up her toys. She placed some of
the stickers on page 1 of her scrapbaok, as shown below.

Page 1
A b A A A
P T O o B T
AGA @k @i ak gk @k
v-’*' e *'p-u-"htr\]l"’?--r"*_r M

Write numbers in the blanks below to show two multiplication facts represented
by the amay of stickers on page 1 of her scrapbook.

= A0
Woge ¥ o 5
7 Y 18

Katia placed the rest of the stickers on pages 2 and 3 of her scrapbook, as
shown helow.

Page 2 Page 3
h A [ A g J‘q. A

v g il ~hr ] e e
BT A Ay

A \ A & A
et o e e A A _"!7
{303 A | W 3 28
i S S I, S -
R 2l P 3:? [ Ll 3y 34
|
.-_;-'Il‘trr -r'-"_,—-_-w'r'-:_-.- qu".,a | _._."l'..,_r_p"'___..___l‘-._
Ay ;’H ;“--. _.'-‘[ | .'z“\". —~, |"-"¢
= -

Complete the expression below to represent the total number of stickers on
pages 2 and 3.

7 xi.':'l"- +.5)

¥

Score Point 1 (out of 2 points)

This response demonstrates a partial understanding of the mathematical concepts in the
task. Two correct multiplication facts are given to represent 28 stickers. The expression
representing the number of stickers on pages 2 and 3 is incorrect. A mistake is made when
multiplying (4 + 3) by 7 rather than 4.
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GUIDE PAPER 5

46

Katia received a sticker each time she picked up her tays. She placed some of

the stickers on page 1 of her scrapbook, as shown below,

Page 1

Proxo*onarore
AR * GARK Sk A S
i:‘:’:’“*‘fﬁ:r AQA
AR A APAGAGAGAY

Write numbers in the blanks below to show two mul.‘l:iplicatinn facts represented
by the amray of stickers nr?zage 1 of her scrapbook.

x

7.8 0

Katia placed the rest of the stickers on pages 2 and 3 of her saapboak, as
shown below.

Page 2 Page 3
|
S IOICIN | OOR
W W
WO VORI
PARARRAY TR

Complete the expression below to represent the total number of stickers on

pages 2 and{j. K{Ll +g

Score Point 1 (out of 2 points)

This response demonstrates a partial understanding of the mathematical concepts in the
task. Two incorrect multiplication facts are given. The response provides an incorrect
answer for the number of stickers. The expression representing the number of stickers on
pages 2 and 3 is correct.
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GUIDE PAPER 6

46 Katla receivad a sticker each time she picked up her toys. She placed same of

the stickers on page 1 of her scrapbook, as shown below.

Page 1
U Ty o
133 I 3
PG ROk a k% anakd
ﬁ}?.r’ﬁﬁ Eﬂf. Tﬂ jIXY H

r"t ] rmm’- me.?

Write numbers in the blanks below to show two multiplication facts representad
by the array of stickers on page 1 of her scrapbook.

U .7 _128
7.4 _28

Katia placed the rest of the stickers on pages 2 and 3 of her scapbook, as

shown balow.
Page 2 Page 3
M S, | A I A :..7 -3
PAGH K@ Xe | SO
S, W — . T T
K g W hrgn Ty . R ol P
o TP T | A A A
1-{ PSRN | | {30 3
S - Y | | I
@ kg tayie | | -{ 3§ %

Complete the expression below to represent the total number of stickers on
pages 2 and 3.

”"qu 31

Score Point 1 (out of 2 points)

This response demonstrates a partial understanding of the mathematical concepts in the
task. Two correct multiplication facts are given to represent 28 stickers. The expression
representing the number of stickers on pages 2 and 3 is incorrect (values 16 and 9 are

incorrect).
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GUIDE PAPER 7

46

Katla recelved a sticker each time she picked up her toys. She placed some of
the stickers on page 1 of her sarapbook, as shown below.

Page 1

-~

=)

X PR GR Gk A kg

A ARARARARARAS

Write numbers in the blanks below to show two multiplication facts represented
by the array of stickers on page 1 of her scrapbook.

T . waR
o A 3%

Katia placed the rest of the stickers on pages 2 and 3 of her scrapbook, as
shown below.

Paga2 Page 3
v—'l—.-TJI?—\q“—r—-q' | T T O
B P P ;-'Il-?( [ ‘l{ 3y 14
B e 18 Y | Ao A A
WICITIC | PAQAR K
S W I A A A
3L L L _ - 3
R A A A ' ks
g Wl Wy A T334

Complete the expression below to represent the total number of stickers on
pages 2 and 3.

O x(HE_+B )

Score Point 0 (out of 2 points)

This response is not sufficient to demonstrate even a limited understanding of the
mathematical concepts in the task. One correct multiplication fact is given to represent 28
stickers. An incorrect expression is provided. This response does not have sufficient work
to show even a limited understanding of the material.
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GUIDE PAPER 8 Additional

46 Katla recelved a sticker each time she picked up her toys. She placed some of

the stickers on page 1 of her sarapbook, as shown below.

Page 1

PAGA @ @kakeketd »
Fetorreroret | B
RN GN QR e ane
PRk e ek e e Y

Write numbers In the blanks below to show two multiplication facts represented
by the array of stickers on page 1 of her scrapbook.

":;2' o '[I.Er .nu':zq.
_‘L“ X 2 =25
Katia placed the rest of the stickers on pages 2 and 3 of her scrapboaok, as
shown below,
Page 2 Page 3

At Yhgte ks
TR | | 1) Tk
PAgE@iate prgiete
W L ek

Complete the expression below to represent the total number of stickers on
pages 2 and 3.

Gox(_4 Ly

Score Point 0 (out of 2 points)

This response is not sufficient to demonstrate even a limited understanding of the
mathematical concepts in the task. Two incorrect multiplication facts are given. The
expression representing the number of stickers on pages 2 and 3 is incorrect.

Page 23




47

Several students voted on their favorite sports activities.

Eight students voted for basketball.
Three students voted for volleyball.
Seven students voted for baseball.
Four students voted for kickball.

Complete the picture graph below to show the data.

FAVORITE SPORT ACTIVITY

Activity Number of Students
Basketball
Volleyball
Baseball
Kickball
KEY

() = 2 students
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EXEMPLARY RESPONSE

47

Several students voted on their favorite sports activities.

* Eight students voted faor basketball,
* Three students voted for volleyball.
» Seven students voted for baseball.
¢ Four students voted far kickhall,

Complete the picture graph below to show the data,

FAVORITE SPORT ACTIVITY

Activity Number of Students
Basketball | () () O O
Volleyball | () C -
Baseball | O OC(

Kickball | QO

KEY

O = 2 students
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GUIDE PAPER 1 Additional

47

Several students voted on their favorite sports acthvi ties.

» Hght students vated far bask ethall .
* Three studants vated far valeybal.
» Seven studan®s voted for basebdl.
* Four students vated far kickaall,

Complete the picture graph belowto show the data.

FAVORITE SPORT ACTIVITY
6> Activity Number of Stu.d—ents
Basketball
| Volleyball D
Baseball 800 D
| Kickball | |

KEY

@ = 2 students

Score Point 2 (out of 2 points)

This response demonstrates a thorough understanding of the mathematical concepts in the
task. The data is correctly represented on the picture graph with circles and half-circles.
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GUIDE PAPER 2

47 Sewral studentsvated on thelr favorite sparss acthvities.

* Eight studants votad for basketbal,
* Three studants vatad far valleyhall,
* Seven students vated for baseball.
* Four studen’s votad for kickball,

Complete the pictwe graph below to show the data.
FAVORITE SPORT ACTIVITY
Activity 'T Number of Students |

Basketball | () (/) ¢ ’3

|

|

Volleyball Q 22 '
L Baseball &&; ) \ D

chkball ) Jl

Score Point 2 (out of 2 points)

This response demonstrates a thorough understanding of the mathematical concepts in the
task. The data is correctly represented on the picture graph with circles and half-circles.
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GUIDE PAPER 3

47

Several studantsvated on thelr favarite sports activities.

= Eight studen’s vated for haskatall.
* Three studants vated for wolleybal.
* Seven students vated for baseball,
* Four students vatad for kiddsall.

Complete the picture graph belowto show the data.
FAVORITE SPORT ACTIVITY

("_Aniv';ty inmber of Students

B sk etball {
Volleyball O? 20 0
Baseball OOC
Kickball ! ) ( !

KEY

@ = 2 students

Score Point 2 (out of 2 points)

This response demonstrates a thorough understanding of the mathematical concepts in the

task. The data is correctly represented on the picture graph. Using C as an unshaded half-
circle to represent 1 student is acceptable.
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GUIDE PAPER 4

47 Several students vated on thdr favorite sports activities.

* Eght students voted for baskethall.
* Three studan’s vated far valleybdl.
e Seven students voted for basebal.
e Four studanis voted for kickhal.

Compler the pictwre graph below to show the data
FAVORITESPORT ACTIVITY

Activity Nu mber of Students |
| Basketball OOC?O
| Voll eyball

|
Base ball O@l
Klf_i‘.ba” ; QQ

KEY
= 2students

Score Point 1 (out of 2 points)

This response demonstrates a partial understanding of the mathematical concepts in the
task. The work is partially correct. The response provides an incorrect picture for the
students that voted for volleyball: one circle is missing. The data for other activities is

represented correctly.
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GUIDE PAPER 5

47

Several students vated on thelr favorite sports activities.

* Eight students vated for basketball,
¢ Three studants voted for vallayball.
» Seven students vated far baseball.
o Four students vated for kdkball.

Complete the picture graph below to show the daa.
FAVORITE SPORT ACTIVITY

Activity Numh—er of Stude}sts

| Basketball @ @@

Volleyball | @ @ @ |
| Baseball |
= 1 ’m @ ‘

Kickball |

KEY |
@ = 2students

Score Point 1 (out of 2 points)

This response demonstrates a partial understanding of the mathematical concepts in the
task. The work is partially correct. The response provides incorrect pictures for students
that voted for volleyball and kickball. There is one extra circle for volleyball and one
missing circle for kickball. The data for other activities is represented correctly.
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GUIDE PAPER

6

- Several students voted on thelr favorite yar's activities.

» Elght students vated for basketball.
® Three students vated far volleyball.
* Seven students vated for basaball.
* Four students vated for kickball.

Complete the picture graph below to show the data.

FAVORITE S PORT ACTIVITY

+

Activity | Numberof Students |

Volleyball Q "a

Baseball Q Q@ !
Kickball Do j

B asketball @@@o g‘
|

{

=4

KEY
@ = 2 students

Stodent

Score Point 1 (out of 2 points)

This response demonstrates a partial understanding of

the mathematical concepts in the

task. The work is partially correct. The response incorrectly uses a different key (a square)
to represent 1 student for volleyball and baseball activities. The data for other activities is

represented correctly.
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GUIDE PAPER 7

47

Several students voted on thek favorite sparts activitles,

B+ Bght students voted for hasketball.
e Three studants vated for valleyball,
“1* Seven students vated for baseball
Y * Four students vated for kickball,

Complete the picture graph below to show the data.

FAVORITE SPORT ACTIVITY
| Activity | Number of Students |
Rasketball ] ‘

|

Volleybq!l ) OOO '!

Baseball }Oamoao

Kickall 3300 |
KEY

@ = 2 students

Score Point 0 (out of 2 points)

This response is not sufficient to demonstrate even a limited understanding of the
mathematical concepts in the task. The response misunderstands the question and uses 1
circle to represent 1 student, resulting in incorrect work.
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GUIDE PAPER 8 Additional

47

Several students voted on their favorite sports activities.

e Eight students voted for baskethal,
* Three students voted for valleyball.
» Seven students voted for baseball.
* Four students voted far kickball.

Complete the picture graph belowto show the data.
FAVORITE SPORT ACTIVITY

A ctivity j NumberofStudents

'raaske ! i
s {11 S LA

; a/ /.V;‘\ .‘
| Basebal 6 -, d,a Mo
| Kickball | 7 lf 74

KEY

@= 2 students

Score Point 0 (out of 2 points)

This response is not sufficient to demonstrate even a limited understanding of the
mathematical concepts in the task. The work does not use the key to show the data.
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48

Madia had a strip of green paper that was 18 inches long. She cut the green
paper into three pieces with equal lengths.

She also had a strip of red paper that was 24 inches long. She cut the red paper
into pieces that were the same length as each cut piece of green paper.

When she was finished cutting, how many pieces of red and green paper did
Madia have in total?

Show your work.

Answer pieces
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EXEMPLARY RESPONSE

48

MNadia had a strip of green paper that was 18 inches long. She cut the green
paper into three pieces with equal lengths.

She also had a strip of red paper that was 24 inches long. She cut the red paper
into pieces that were the same length as each cut piece of green paper.

When she was finished cutting, how many pieces of red and green paper did
Nadia have in total?

Show your work.

i8+3=6
24d+6=4
3+4=7

Or other valid response.

Answer 7 pieces
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GUIDE PAPER 1 Additional

48

Madia had ﬂw nanar that wa mﬂ, She cut the green
paper into three pieces) -- g
iV, .
She also had a strlp of red papestharwal2s |
into pleces that were ﬂmm edsh out nﬁ@rﬁp;\-‘_‘;

-
When she was finished :utaﬁ“g,_lﬁﬁ‘ many pieces of red and green paper did
Madia have in total?

ai long. She ant the red paper

Show your work.

[§+2-6

Answer 7 pleces

Score Point 2 (out of 2 points)

This response demonstrates a thorough understanding of the mathematical concepts in the
task. The response follows a correct procedure to determine the length of one piece of
green paper and the number of 6 inches long red pieces. The total number of red and green
pieces is calculated correctly.
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GUIDE PAPER 2

48 Nadia had a strip of green paper that was 18 Inches long. She cut the green

paper into three pleces with equal lengths.

She also had a strip of red paper that was 24 Inches long. She aut the red paper
into pieces that were the same length as each cut plece of green paper.

When she was finished cutting, how many pieces of red and green paper did
Nadia have in total?

Show your work.

\g-3 -6

Gt

PPUSRE—

(d(“;b-ﬂ r———

Lé wl G

1

gLes
3

‘, Q \Q.tQS
Answer 7 pleces

Score Point 2 (out of 2 points)

This response demonstrates a thorough understanding of the mathematical concepts in the
task. The response follows a correct procedure to determine the length of one piece of
green paper and the number of 6 inches long red pieces. The total number of red and green
pieces is calculated correctly.
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GUIDE PAPER 3

48
Nadia had a strip of green paper that was @nd'lﬁ long. She cut the green

paper into @ple:ﬁ with egual lengths.

She also had a strip of red paper that m:@nﬂm long She cut the red paper
into pleces that were the same length as ggch cut plece of green paper.

When she was finished cutting, how many pieces of red and green paper did
Madla have In total?

Show your work.

%W

aﬁﬁbz_l%_ by Xé,') SYRTY

Anzwer ' pleces

Score Point 2 (out of 2 points)

This response demonstrates a thorough understanding of the mathematical concepts in the
task. The response follows a correct procedure to determine the total number of red and

green pieces.
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GUIDE PAPER 4

48 Nadia had a strip of green paper that was 18 inches long. She cut the green

paper into three pleces with equal lengths.

She also had a strip of red paper that was 24 inches long. She cut the red paper
into pieces that were the same length as each cut plece of green paper.

When she was finished cutting, how many pleces of red and green paper did
Nadia have in total?

Show your work.

| \$=3=0
W+h=h
b

-

Answer \.B\ pleces

Score Point 1 (out of 2 points)

This response demonstrates a partial understanding of the mathematical concepts in the
task. The response follows a correct procedure to determine the length of one piece of
green paper. An error is made when determining the number of red pieces (24 is divided
by 4 rather than by 6). The work for determining the total number of red and green pieces
is incorrect: the length of green pieces is added to the number of red pieces. The response
addresses some elements of the task correctly.
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GUIDE PAPER 5

48

Nadla had a strip of green paper that was 18 Inches long. She cut the green
paper into thiee pleces with equal lengths.

She also had a strip of red paper that was 24 Inches long. She cut the red paper
into pleces that were the same length as each cut plece of green paper.

When she was finished cutting, how many pleces of red and green paper did
Nadia have in total?

Show your work.

Answer r p}g; es

This response demonstrates a partial understanding of the mathematical concepts in the
task. The response follows a correct procedure to determine the length of one piece of
green paper. A mistake is made when determining the number of red pieces (24 is divided
by 3 rather than by 6). Another mistake occurs when determining the total number of red
and green pieces: the length of a green piece is added to the number of red pieces. The

Score Point 1 (out of 2 points)

response addresses some elements of the task correctly.
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GUIDE PAPER

48 ul il
Nadia had a stri green papsi thatwas 18 im@ne cut the g@
paper into t‘ree pi with equal lengths, — = '

She also had'a strlp of red wag 24 Inches Reng. She cut wikéw
into pleces that were the same length as gl cut iste of grecn ;

When she was finished cutting, how many pieces of
Nadia have @ -

Show your work.

Amcri-D pieces

Score Point 1 (out of 2 points)

This response demonstrates a partial understanding of the mathematical concepts in the
task. The response follows a correct procedure to determine the length of one piece of
green paper and the number of red pieces. A mistake is made when calculating the total
number of pieces: the length of a green piece is added to the number of red pieces,
resulting in an incorrect answer.
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GUIDE PAPER 7

48

Madla had a strip of green paper that was 18 Inches long. She cut the green
paper into three pleces with equal lengths.

She also had a strip of red paper that was 24 inches long. She cut the red paper
into pleces that were the same |ength as each cut piece of green paper,

When she was finikshed cutting, how many pleces of red and green paper did
Madia have in total?

Answer 6 pleces

Score Point 0 (out of 2 points)

This response is not sufficient to demonstrate even a limited understanding of the
mathematical concepts in the task. The response provides two incorrect procedures to
determine the length of a piece of paper. There is no work for determining the number of

red pieces.
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GUIDE PAPER 8

Additional

48 Madia had a strip of green paper that was 18 inches long. She cut the green

paper into three pleces with equal lengths.

She also had 2 strip of red paper that was 24 inches long. She cut the red paper
into pieces that were the same length as each cut plece of green paper.

When she was finished cutting, how many pleces of red and green paper did
Madia have in total?

Show your work.

Answer L] 2

pleces

Score Point 0 (out of 2 points)

This response is not sufficient to demonstrate even a limited understanding of the
mathematical concepts in the task. The work for determining the total number of pieces is
incorrect. The response is adding the lengths of the two strips rather than the quantities of

pieces by color.
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49 Mr. Nuccio’s sandwich shop was 9 yards long and 7 yards wide before he added

a new section. The shaded squares below show the new section.

9 yards

KEY

= 1 square yard

b———7 yards —

What is the total area, in square yards, of Mr. Nuccio’s sandwich shop after the
new section was added?

Show your work.

Answer square yards
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EXEMPLARY RESPONSE

49 Mr. Nuccio’s sandwich shop was 9 yards long and 7 yards wide before he added

a new section. The shaded squares below show the new section.

9 yards

KEY

= 1 square yard

———7vyards —

What is the total area, in square yards, of Mr. Nuccio's sandwich shop after the

new section was added?

Show your work.

Area=alb+c)=ab+ac
=9{7+3)
=9 %10
=90

Or other valid response.

Answer 50

={FxT7)+(9x3)
=03 +27
=30

OR

square yards
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GUIDE PAPER 1 Additional

49 Mr. Nuccio’s sandwich shop was 9 yards long and 7 yards wide before he added

a new section. The shaded squares below show the new section P e SRR

-y

9 yards
KEY
= 1 square yard
p——— 7 yards + =
X 3 }.'olf“(\-S
What is the total area, in square yards, of Mr. Nuccio's sandwich shop after the
new section was addgd?

Show your wori.

\
9x7=63
Gx3 =27

—»-‘—"'O"

30

Answer A0 square yards

Score Point 2 (out of 2 points)

This response demonstrates a thorough understanding of the mathematical concepts in the
task. The original area and the area of the new section are correctly calculated and added
to determine the total area.
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GUIDE PAPER 2

49 Mr. Nucclo’s sandwich shop was 9 yards long and 7 yards wide before he added

a new section. The shaded squares below show the new section.

L B

9 yards 7} /ﬂ/.
! 5

KEY

= 1 square yard

7w 340 |

What is the total area, in square yards, of Mr. Nuccio’s sandwich shop after the
new section was added?

Show your work.

A"—’( Se >
Answer O sqqug/ya“Xs%

Score Point 2 (out of 2 points)

This response demonstrates a thorough understanding of the mathematical concepts in the
task. The new width of the shop is correctly calculated and then multiplied to determine
the total area.
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GUIDE PAPER 3

49 Mr. Nuccio’s sandwich shop was 9 yards long and 7 yards wide before he added

a new section, The shaded squares below show the new section.

KEY

| = 1 square yard

p—7 yards —

What is the total area, in square yards, of Mr. Nuccio’s sandwich shop after the
new section was added?

Show your work.

(
— 2 -y ) -7 @3
N7=05 ax3. 2 %Y

N.
q " }.vf{/{lﬁz

~Naas

Answer q square yards

Score Point 2 (out of 2 points)

This response demonstrates a thorough understanding of the mathematical concepts in the
task. The original area and the area of the new section are correctly calculated and added
to determine the total area. Although the answer is incorrectly transcribed from the work
to the answer blank, this is considered an inconsequential error that does not detract from

the correct solution.
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GUIDE PAPER 4

49 Mr. Nucclo’s sandwich shop was 9 yards long and 7 yards wide before he added

a new section. The shaded squares below show the new section.

-

9 yards

= 1 square yard

p—— 7 yards ——i

What is the total area, in square yards, of Mr. Nuccio’s sandwich shop after the
new section was added?

Show your work.

4 &
3 | L
™ 75

4
x 7
6

Answay '7 9 square yards

Score Point 1 (out of 2 points)

This response demonstrates only a partial understanding of the mathematical concepts of
the task. Although the original area is correctly calculated, the area of the new section is
incorrectly found through addition rather than multiplication. The response correctly
addresses only some elements of the task.
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GUIDE PAPER 5

49 Mr. Nucclo's sandwich shop was 9 yards long and 7 yards wide before he added

a new section. The shaded squares below show the new section.
3

7

9 yards

KEY

= 1 square yard

—7yards —

What is the total area, in square yards, of Mr. Nuccio’s sandwich shop after the
new section was added?

Show your work.

27

i I ==
yonds yerds yatds

Answér /Z- 7 square yards

Score Point 1 (out of 2 points)

This response demonstrates only a partial understanding of the mathematical concepts of
the task. Although the area of the new section is correctly computed, no attempt is made to
calculate and include the original area of the shop. The response correctly addresses only

some elements of the task.
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GUIDE PAPER 6

49 Mr. Nucclo'’s sandwlch shop was 9 yards leng and 7 yards wide before he added

a new section, The shaded squares below show the new section.

=1 sguare yard

——7vyards ——

What is the total area, in square yards, of Mr. Nuccio’s sandwich shop after the
new section was added?

Show your work.

(¥ w763

Answeér 9 ? square yards

Score Point 1 (out of 2 points)

This response demonstrates only a partial understanding of the mathematical concepts of
the task. Although the original area and the area of the new section are correctly
calculated, no attempt is made to add them to determine the total area. The response
correctly addresses only some elements of the task.
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GUIDE PAPER 7

49 Mr. Nuccio’s sandwich shop was 9 yards long and 7 yards wide before he added

a new section. The shaded squares below show the new section.

T

KEY

= 1 square yard

b7 yards —i

What is the total area, in square yards, of Mr. Nuccio’s sandwich shop after the
new section was added?

Show your work.

gy =28

]

Answer . square yards

Score Point 0 (out of 2 points)

While an attempt is made to determine the area of the new section, a calculation error
(9 x 3 =25) results in an incorrect value. Additionally, no attempt is made to calculate and
include the original area of the shop. Holistically, the response is not sufficient to
demonstrate even a limited understanding of the mathematical concepts in the task.
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GUIDE PAPER 8 Additional

49

Mr. Nucclo’s sandwich shop was 9 yards long and 7 yards wide before he added

a new section. The shaded squares below show the new section.

EEE

-

F W 1 - KEBY

1 = 1 square yard

|

p———7 yards —

What is the total area, in square yards, of Mr. Nuccio's sandwich shop after the
new section was added?

Show your work,

Apswer 53 square yards

Score Point 0 (out of 2 points)

While an attempt is made to determine the original area through a visual representation of
the multiplication, a calculation error (9 x7=53) results in an incorrect value.
Additionally, no attempt is made to calculate and include the area of the new section.
Holistically, the response is not sufficient to demonstrate even a limited understanding of

the mathematical concepts in the task.
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50

Sharon wants to make key chains with different-colored beads, as shown below.

KEY CHAIN

Green Red Blue

Each key chain will look the same. Sharon will use a total of 20 green beads to
make all her key chains. What is the number of red beads and the number of
blue beads she will need to make all of the key chains?

Show your work.

AHnswer red beads

blue beads
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EXEMPLARY RESPONSE

50

Sharon wants to make key chains with different-colored beads, as shown below.

KEY CHAIN

Green Red B !ue

Each key chain will look the same. Sharon will use a total of 20 green beads to
make all her key chains. What is the number of red beads and the number of
blue beads she will need to make all of the key chains?

Show your work.

chain=4 green+3red +6 blue
green =20 beads +4 beads per chain  x =5 chains
red=5x3=15

blue=5%x6=30

Cr other valid response

Answer 15 red beads

30 blue beads
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GUIDE PAPER 1 Additional

50 Sharon wants to make key chains with different-colored beads, as shown below

KEY CHAIN

Blue

Green Red
[ Beads | Beads |  Beads |

Each key chain will look the same. Sharon will use a total of 20 green beads to
make all her key chains. What is the number of red beads and the numbes of
blue beads she will need to make all of the key chains?

5 X 3= IS
. Ied ed
“'Gm.’» beads 3,0:,?
20 Y= §
grm\ green  Chyins
beads 0” C&lA
1 f [MI CI'Oa"')

Show your work.

Ik ¢ =30
, 5 o (ha;‘os Blve.  Blec
s Bengs  beas;

I
_30_ blue beads L al)

Answer

Score Point 3 (out of 3 points)

This response demonstrates a thorough understanding of the mathematical concepts in the
task. The correct number of key chains to be made is calculated and correctly multiplied
by the numbers of red and blue beads per chain.
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GUIDE PAPER 2

50 Sharon wants to make key chains with different-colored beads, as shown below.

KEY CHAIN
Green Blue

[ Beads™ [ Beads T— Beads |

Each key dhain wiil look the same. Sharon will use a total of 20 green beads to
make all her key chains. What is the number of red beads and the number of
blue beads she will need to make all of the key chains?

Show your work.

6¥530 55 L X5 =70

t 4 4
b(of fe
& dreefr
Leal tead$S beads

Answey ‘LB red beads

_/)JE_ blye beads

Score Point 3 (out of 3 points)

This response demonstrates a thorough understanding of the mathematical concepts in the
task. The number of key chains to be made is correctly multiplied by the numbers of red
and blue beads per chain. A multiplication by the number of green beads per chain
sufficiently verifies the correct number of key chains to use 20 total green beads.
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GUIDE PAPER 3

50 Sharon wants to make key chains with different-colored beads, as shown below.
KEY CHAIN
Green Red Blue

‘ -\[" Beads | Beads |  Beads |

Each key chain will look the same. Sharon will use a total of 20 green beads to
make all her key chains. What is the number of red beads and the number of
blue beads she will need to make all of the key chains?

Show your work.

Ay A=
5x 3217

e

|5
>\
Answer _ " _red beads

k__lhn beads

Score Point 3 (out of 3 points)

This response demonstrates a thorough understanding of the mathematical concepts in the
task. The number of key chains to be made is correctly multiplied by the numbers of red
and blue beads per chain. No work is shown to derive the value of 5 key chains; however,
this step is acceptable to be performed mentally.
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GUIDE PAPER 4

50 Sharon wants to make key chains with different-colored beads, as shown below.
KEY CHAIN
Green Red Blue

"\l— Beads ™ | Beads |  Beads |

Each key chain will look the same. Sharon will use a total of 20 green beads to
make all her key chains. What is the number of red beads and the number of
blue beads she will need to make all of the key chains?

Show yosur work.

1.
Answer X2 red beads

et ,1’5 __ blue beads

Score Point 2 (out of 3 points)

This response demonstrates a partial understanding of the mathematical concepts in the
task. Repeated addition is used to correctly calculate the total number of each color of
beads; however, the answers are transcribed onto the wrong answer blanks and the work
does not label which column is for which color of bead. Although the response contains an
incorrect solution, it uses a mathematically sound procedure.
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GUIDE PAPER 5

50

Sharon wants to make key chains with different-colored beads, as shown below.

KEY CHAIN
Green Blue

i Beads 3 % Beads -[_'_ Beads™ |

Each key chain will look the same. Sharon will use a total of 20 green beads to
make all her key chains. What is the number of red beads and the number of
blue beads she will need to make all of the key chains?

Show your work. Ly .

Answer h 5 red beads

_____‘B_O_ blue beads

Score Point 2 (out of 3 points)

This response demonstrates a partial understanding of the mathematical concepts in the
task. Cumulative addition of green beads shows the correct total number of key chains and
the correct solutions are provided; however, no intermediate work is shown to link these
steps. The response addresses most, but not all aspects of the task.

Page 60




GUIDE PAPER 6

50 Sharon wants to make key chalns with different-colored beads, as shown below
KEY CHAIN
Green Red Blue

[ Beads | Beads |  Beads” |

Each key chain will look the same. Sharon will use a total of 20 green beads to
make all her key chains. What is the number of red beads and the number of
blue beads she will need to make all of the key chains? 9:103-«4 beod’

Show your work. ER 58 < keads L0:yz g
: ‘ - -
o9, &4 ic, %3 < 15Lue bandy

Answer 3o red beads

_'!____ blue beads

Score Point 2 (out of 3 points)

This response demonstrates a partial understanding of the mathematical concepts in the
task. The number of key chains to be made is correctly multiplied by the number of red
and blue beads per chain; however, the answers are transposed in both the work and the
answer blanks. Although the response contains an incorrect solution, it uses a
mathematically sound procedure.
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GUIDE PAPER 7

50

Sharon wants to make key chains with different-colored beads, as shown below.
KEY CHAIN
Green Red Blue

—X\J Beads [ Beads | _ Beads™ |

Each key chaln will look the same, Sharon will use a total of 20 green beads to
make all her key chains. What is the number of red beads and the number of
blue beads she will need to make all of the key chains?

Show your work.

5

5

Answer red beads

30 bive beads

Score Point 1 (out of 3 points)

This response demonstrates only a limited understanding of the mathematical concepts in
the task. Although the response contains correct solutions, the required work is limited.
Presumably the number 5 is meant to represent the number of key chains to be made but
no other work exists to provide context to assess the response.
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GUIDE PAPER 8 Additional

50

Sharon wants to make key chalns with different-colored beads, as shown below.

KEY CHAIN

Green Blue

[ Beads _]" Beads | seads_‘l

Each key chain will look the same. Sharon will use a total of 20-green beads to
make all her key chains. What is the number of red beads and the number of
blue beads she will need to make all of the key chains?

Show your work.

(lo (Grecnr bﬁa o

15 Red b radf
3() B{u{ bgqalf

Answer [ 5 red beads

_.70 blue beads

Score Point 1 (out of 3 points)

This response demonstrates only a limited understanding of the mathematical concepts in
the task. Although the response contains correct solutions, the required work is limited.
The work only repeats the final solutions and the value of 20 green beads from the

prompt.
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GUIDE PAPER 9

50

Sharon wants to make key chains with different-colored beads, as shown below.

KEY CHAIN
Green Red Blue
| Beads™ | Beads | Beads |

Each key chain will look the same. Sharon will use a total of 20 green beads to
make all her key chains. What is the number of red beads and the number of
blue beads she will need to make all of the key chains?

Show your work.

Vo S Yoy

1%
L
-

Answer red beads

blue beads

Score Point 1 (out of 3 points)

This response demonstrates only a limited understanding of the mathematical
concepts in the task. Although the response contains correct solutions, the required
work is limited. The work only repeats the final solutions and the value of 20 green
beads from the prompt.
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GUIDE PAPER 10

50 Sharon wants to make key chains with different-colored beads, as shown below.

KEY CHAIN

Green Blue

XN Beads T [ Beads"[_' Beads™ |

Each key chaln will look the same. Sharon will use a total of 20 green beads to
make all her key chains. What is the number of red beads and the number of
blue beads she will need to make all of the key chains?

Show your work.

>}
Answer' ’L N red beads

L 6 blue beads

———— e - —

Score Point 0 (out of 3 points)

This response is irrelevant and is not sufficient to demonstrate even a limited
understanding of the mathematical concepts in the task. The numbers of red and blue
beads per chain are inappropriately added to the total number of green beads on all key

chains.
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GUIDE PAPER 11 Additional

50

Sharon wants to make key chains with different-colored beads, as shown below.

KEY CHAIN
Green Red Blue

ZX\\| Beads [ Beads T Beads” |

Each key chain will look the same. Sharon will use a total of 20 green beads to
make all her key chains. What is the number of red beads and the number of
blue beads she will need to make all of the key chains?

Show your worik.

g,7¥33\0
L, C"“,’ {7

Answer 7 red beads

_H_ blue beads

Score Point 0 (out of 3 points)

This response is irrelevant and is not sufficient to demonstrate even a limited
understanding of the mathematical concepts in the task. Random addition is used with no

relation to the correct procedure of the problem.
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51

Shade the models below to show 3 equivalent fractions and explain why they
are equivalent.

A B C
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EXEMPLARY RESPONSE

51

Shade the models below to show 3 equivalent fractions and explain why they
are equivalent.

A B

1/2 =3/6 and 2/4 since each fraction may be reduced to simple form 1/2.

Or other valid response.
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GUIDE PAPER 1 Additional

51 Shade the models below to show 3 equivalent fractions and explain why they

are equivalent,
G

2
B
“

o (V-

Fin LMMMQWE_AJM
&Bﬁded_ﬁ_ﬁﬁge_&mmddd

31; ok «HEL
mgdg_: hove, he, Same, dmount

Shddded dnd +he. <ame Dmout ot

Shidded,

Score Point 3 (out of 3 points)

This response demonstrates a thorough understanding of the mathematical concepts in the
task. The models are appropriately shaded and the explanation correctly identifies that all
fractions reduce to /.
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GUIDE PAPER 2

51

Shade the models below to show 3 equivalent fractions and explain why they
are equivalent.

|
NN = ]

These are gl/ mwwré’n/ ‘JecauSe /2 15
eqm/ i 3&¢/J Z., ¥ and Y ack
;:;a/f- be’c:auge e S"@JC’ 2 guf a)(

£ MS hal¥ ond "/mcle oc)l[;‘

/cr;xlf' ?[Aajg atso kO\F

Score Point 3 (out of 3 points)

This response demonstrates a thorough understanding of the mathematical concepts in the
task. The models are appropriately shaded and the explanation correctly identifies that all
fractions reduce to Y.
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GUIDE PAPER 3

51

Shade the models below to show 3 equivalent fractions and explain why they
are equivalent.

] 132 f
IAL)"‘QI“ ALl  hyianse X7, FarwollE

Score Point 3 (out of 3 points)

This response demonstrates a thorough understanding of the mathematical concepts in the
task. The models are appropriately shaded and the explanation correctly identifies that all

. 1
fractions reduce to /5.
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GUIDE PAPER 4

51 Shade the models below to show 3 equivalent fractions and explain why they

are equivalent,

"_ 7 { - : | = \
I }.?f"’ 2 0 LR R {24 RadAWRY, ; lad) 8 ¢ EC b gas B

-.. I‘S—vl‘ - oo - ‘-.-..u’v‘ '}»-.l

A AR T LA S T [ e B4 Yo vy .,

Score Point 2 (out of 3 points)

This response demonstrates a partial understanding of the mathematical concepts in the
task. Two of the models are appropriately shaded by '4; however, the third model is only
shaded by . The explanation, while not strong, does convey the concept of all fractions
reducing to an equal value. The response correctly addresses most, but not all aspects of

the task.
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GUIDE PAPER 5

51 Shade the models below to show 3 equivalent fractions and explain why they

are equivalent.

Thoy art  equle  ploaute they
inel ke M FYation €or eXAn o le
_,A LS 1'5_ ; E’ \f.g % A ”3 C_l.g_ét_.

Score Point 2 (out of 3 points)

This response demonstrates a partial understanding of the mathematical concepts in the
task. Two of the models are appropriately shaded by “4; however, the third model is
shaded by V. The explanation does not sufficiently address the equivalence of all three
fractions, but it is consistent with how the models were shaded. The response reflects
some minor misunderstanding of the underlying concepts in the task.
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GUIDE PAPER 6

31 | shade the models below to show 3 equivalent fractions and explain why they

are equivalent.

Score Point 2 (out of 3 points)

This response demonstrates a partial understanding of the mathematical concepts in the
task. Two of the models are appropriately shaded by “4; however, the first model is not
shaded. The explanation correctly addresses the equivalence of the models that were

shaded. The response correctly addresses most, but not all aspects of the task.
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GUIDE PAPER 7

51 Shade the models below to show 3 equivalent fractions and explain why they

are equivalent.
B C
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Score Point 1 (out of 3 points)

This response demonstrates only a limited understanding of the mathematical concepts in
the task. The models and explanation inappropriately equate only the numerators of
fractions (total number of sections shaded). The response reflects a lack of essential
understanding of the underlying concepts in the task.
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GUIDE PAPER 8 Additional

51 Shade the models below to show 3 equivalent fractions and explain why they

are equivalent.

A B (
R — 1 2t - 121 ;*7 [ 4
K 4
— = . —
1 AC \ 2 1% le
——— S = L;U O kg ‘L&. CJ __'“_'L ™ | \)

Score Point 1 (out of 3 points)

This response demonstrates only a limited understanding of the mathematical concepts in
the task. Two of the models are appropriately shaded by "4; however, the third model is
shaded by V. Additionally, the explanation inappropriately equates only the total number
of shaded sections (corresponding to only the numerator of a fraction). The response
reflects a lack of essential understanding of the underlying concepts.
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GUIDE PAPER 9

51 Shade the models below to show 3 equivalent fractions and explain why they

are equivalent.

o

K\\'\og odl! afe.  €00Nalek
\(_vﬁ.(m‘sp aM oee. . Shaded

N *Qox)(‘.

Score Point 1 (out of 3 points)

This response demonstrates only a limited understanding of the mathematical concepts in
the task. Two of the models are appropriately shaded wholly and equivalently; however,
the second model is shaded by V. Additionally, the explanation inappropriately equates
only the total number of shaded sections (corresponding to only the numerator of a
fraction). The response reflects a lack of essential understanding of the underlying

concepts.
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GUIDE PAPER 10

51|  shade the models below to show 3 equivalent fractions and explain why they

are equivalent.

A £ ¢
K ' ; I =y
\\ ‘
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b 1 |
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Score Point 0 (out of 3 points)

This response is not sufficient to demonstrate even a limited understanding of the
mathematical concepts in the task. Only a single model is shaded and the explanation is
incoherent.
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GUIDE PAPER 11 Additional

51 Shade the models below to show 3 equivalent fractions and explain why they

are equivalent.
A B
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Score Point 0 (out of 3 points)

Although the explanation mentions comparing numerators and denominators, the numbers
below the answer inappropriately show the total number of sections in each diagram as the
numerator when they should be in the denominator, and the denominators are all 1. In
addition, no models are shaded. Holistically, the response is not sufficient to demonstrate
even a limited understanding of the mathematical concepts in the task.
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52 There were 80 adults and 20 children at a school play. The school collected $8

for each adult's ticket and $3 for each child’s ticket. The school donated $125 of
the money from tickets to a local theater program and used the remaining
money to buy supplies for next year's school play.

How much money does the school have to buy supplies for next year’s play?

Show your work.

Answer §
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EXEMPLARY RESPONSE

52 There were 80 adults and 20 children at a school play. The school collected $8

for each adult’s ticket and $3 for each child’s ticket. The school donated $125 of
the money from tickets to a local theater program and used the remaining
money to buy supplies for next year's school play.

How much money does the school have to buy supplies for next year’s play?

Show your work.

80 = 8 =640
20x3 =060
640 + 60 =700

700-125=575

OR other valid response

Answer § 575
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GUIDE PAPER 1 Additional

52

There were 80 aduits and 20 children at a school play. The schoo! collected $8
for each adult’s ticket and $3 for each child’s ticket. The school donated $125 of
the money from tickets 1o a local theater program and used the remaining
money to buy supplies for next year’s school play.

How much money does the school have to buy supplies for next year's play?

Show your work.

Score Point 3 (out of 3 points)

This response demonstrates a thorough understanding of the mathematical concepts in the
task. The ticket revenue is correctly calculated and the donation amount subtracted to
determine the remaining money.

Page 82




GUIDE PAPER 2

52 There were 80 adults ana 20 children at a school play. The schoo! collected $8

the money from tickets to a local theater program-and used the remaining
money to buy supplies for next year’s schog! play.
How much money does the school have to buy supplies for next vear’s plav?

Skow your work. T AT AR

2B

&o

Answer $

Score Point 3 (out of 3 points)

This response demonstrates a thorough understanding of the mathematical concepts in the
task. The ticket revenue is correctly calculated and the donation amount subtracted to
determine the remaining money.
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GUIDE PAPER 3

52 There were 80 adults and 20 children at & school play. The school collected $8
for each adult's ticket and $3 for each child's ticket. The school donated $125 of

the money from tickets to a local theater program and used the remaining
money to buy supplies for next year's school play.

How much money does the school have to buy supplies for next year's play?

Show your worlk.

8x50 = pyp

2 30
7990 4 80

, L g
Fa 60 %o
D 20

p 0 2
Yoy 20

Yoo 40
55 L40

Answer s S75

Score Point 3 (out of 3 points)

This response demonstrates a thorough understanding of the mathematical concepts in the
task. The ticket revenue is correctly calculated and the donation amount subtracted to

determine the remaining money.
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GUIDE PAPER 4

52 There were 80 adults and 20 children at a school play. The school collected $8
for each adult's ticket and $3 for each child’s ticket. The school donated §125 of

the money from tickets to a local theater program and used the remaining
money to buy supplies for next year’s school play.

How much money does the school have to buy supplies for next year's play?

Show youwr work.

Score Point 2 (out of 3 points)

This response demonstrates a partial understanding of the mathematical concepts in the
task. The ticket revenue is calculated and the donation amount correctly subtracted to
determine the remaining money; however, a calculation error when determining the
revenue (20 x 3 =50) results in an incorrect final solution. Although the solution is
incorrect, appropriate and mathematically sound procedures were used.
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GUIDE PAPER 5

52 There were 80 adults and 20 children at a school play. The school collected $8

for each adult's ticket and $3 for each child’s ticket. The schoal donated $125 of
the money from tickets to a local theater program and used the remaining
money to buy supplies for next year's school play.

How much money does the school have to buy supplies for next year's play?

Show your work.
A ~
; "5) O ODO ZO 615_? &)
(o0 2x 3 Suont
T TS 10

Score Point 2 (out of 3 points)

This response demonstrates a partial understanding of the mathematical concepts in the
task. The ticket revenue is correctly calculated and the donation amount subtracted to
determine the remaining money; however, a calculation error during the subtraction
(700 — 125 = 515) results in an incorrect final solution. Although the solution is incorrect,
appropriate and mathematically sound procedures were used.
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GUIDE PAPER 6

52 There were 80 adults and 20 children at a school play. The school collected $8

for each adult’s ticket and $3 for each child’s ticket. The school donated §125 of
the money from tickets to a local theater program and used the remaining
mongy to buy supplies for next year's school play.

How much money does the school have to buy supplies f?r next year's play?

\8 (&) ‘2 ({) 4 e o
Show your work. < X - T ——
o (‘: = > B L:::.“-'*j__
e - — = O A
640 o R

Answer$ " [ 0@

Score Point 2 (out of 3 points)

This response demonstrates a partial understanding of the mathematical concepts in the
task. The ticket revenue is correctly calculated; however, no attempt is made to subtract
the donation amount to determine the remaining money. The response addresses most, but
not all aspects of the task.
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GUIDE PAPER 7

52 There were 80 adults and 20 children at a school play. The school collected $8

for each adult’s ticket and $3 for each child's ticket. The school donated $125 of
the money from tickets to a local theater program and used the remaining
money 1o buy supplies for next year's school play.

How much money does the school have to buy supplies for next year's play?

Show your work.

Score Point 1 (out of 3 points)

This response demonstrates only a limited understanding of the mathematical concepts in
the task. The donation amount is correctly subtracted from ticket revenue; however, the
value of $600 is an incorrect amount from a calculation error (8 x 80 =600) that
additionally does not include revenue from the children’s tickets. The response correctly

addresses only some elements of the task.

Page 88




GUIDE PAPER 8 Additional

52 There were 80 adults and 20 children at a school play. The school collected $8
for each adult's ticket and $3 for each chiid’s ticket. The school donated $125 of

the money from tickets to a local theater program and used the remaining
money to buy supplies for next year's school play.

How much money does the school have to buy supplies for next year's play?

Show your work.

s

Score Point 1 (out of 3 points)

This response demonstrates only a limited understanding of the mathematical concepts in
the task. Revenue from child’s tickets is correctly calculated; however, a calculation error
when determining the revenue from adult’s tickets (80 x 8 = 840) results in an incorrect
value for total revenue. Additionally, no attempt is made to subtract the donation amount
to determine the remaining money. The response correctly addresses only some elements
of the task.
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GUIDE PAPER 9

52 There were 80 adults and 20 children at a school play. The school collected $8

for each adult's ticket and $3 for each child's ticket. The school donated $125 of
the money from tickets to a local theater program and used the remaining
money to buy supplies for next year's school play.

How much money does the school have to buy supplies for next year's play?

20X3=b60  Fg=
GO} 000 =060

nmswer s 435

Score Point 1 (out of 3 points)

This response demonstrates only a limited understanding of the mathematical concepts in
the task. Revenue from child’s tickets is correctly calculated; however, a calculation error
when determining the revenue from adult’s tickets (80 x 8 = 1000) results in an incorrect
value for total revenue. The donation is then subtracted correctly to obtain the answer of
$935, but this step is not shown. The response addresses some elements of the task
correctly but reaches an inadequate solution based on faulty and incomplete reasoning.
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GUIDE PAPER 10

52 There were 80 adults and 20 chlldren at a school play. The school collected $8

for each adult's ticket and $3 for each child’s ticket. The school donated §125 of
the money from tickets to a local theater program and used the remaining
money to buy supplies for next year’s school play.

How much money does the school have to buy supplies for next year’s play?

Skow your work.

— /'*_.\~
~ )

| Bt 15

Loee
| 26

3

| e

Apswer §

Score Point 0 (out of 3 points)

This response is irrelevant and not sufficient to demonstrate even a limited understanding
of the mathematical concepts in the task. The two costs per ticket type are inappropriately
added together and then added to the donation amount.
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GUIDE PAPER 11 Additional

52 There were 80 adults and 20 children at a school play. The school collected $8

for each adult’s ticket and $3 for each child’s ticket. The school donated $125 of
the money from tickets to a local theater program and used the remaining
money to buy supplies for next year's school play.

How much money does the school have to buy suppiies for next year’s play?
Show your work.‘
o
e

Answer § ‘m

Score Point 0 (out of 3 points)

This response is irrelevant and not sufficient to demonstrate even a limited understanding
of the mathematical concepts in the task. The two costs per ticket type are inappropriately
added together and the total number of attendees calculated.
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